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- The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

1 How did proto-industrialization facilitate the transition
0 industrial capitalism ? 10

Or,

How did changes in cultivation practices and land
holding system help to bring about Agncultural

Revolution in Europe ? 10

- 2. Why did France fail to have an industrial revolution

- in the period 1789-18157 10
Or,
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(2)

Dicuss briefly developments in the French €conomy
in the period 1815-1850. How would you
characterise industrialisation in this period ? 10

- Why is the period 1830s-1860s regarded significant

for modem German industrialisation ? 10
Or,

Review critically Bismarck’s economic policies and

programmes. 10

- Analyse the effects of the Emancipation Edict (1861)

on the Russian economy as a whole. g 10
Or,

What initiatives did the Russian state undertake to
procure capital essential for modem industrialisation
in the 19* century ? 10

[Internal Assessment : 10 marks]



